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QUESTION 1

Which role does XML play in an SOA design? 

A. XML is used to implement the UML design. 

B. XML schema drives the messaging payloads. 

C. XML is used for Web services which are required in SOA. 

D. XML is used to describe interfaces and message bindings. 

Correct Answer: D 

 

QUESTION 2

Which technique improves a business process? 

A. Perform analysis of the resources being used by the process 

B. Simulation of the process to identify and test improvements 

C. Domain decomposition to identify the correct granularity of tasks 

D. Monitoring availability of components that are used by the business process 

Correct Answer: B 

 

QUESTION 3

In the IBM SOA Reference Architecture, the service registry should be logically located with 

which other component? 

A. Access Services 

B. Process Services 

C. Infrastructure Services 

D. Enterprise Service Bus (ESB) 

Correct Answer: D 

 

QUESTION 4

What describes the purpose of the Enterprise Service Bus (ESB) in an SOA? 

A. It provides separation of concerns so that each service can be managed separately. 
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B. It provides a design that allows components to be changed with less impact to the consumer. 

C. It allows a service consumer to make a service request without knowing the details of the operation. 

D. It implements service functionality by integrating existing back end service functionality using routing and
transformation logic. 

Correct Answer: B 

 

QUESTION 5

Which two statements define a service in SOA? 

A. It is a transaction that supports a business function. 

B. It is a standard way for messaging between service providers and consumers. 

C. It exposes business functionality with a well-defined interface that can be invoked. 

D. It is a language-specific operation that executes across an Enterprise Service Bus (ESB). 

E. It is a loosely-coupled component that can be choreographed to create a composite business function. 

Correct Answer: CE 
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